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1. 000000000000 000000000000
010 (z +9)(z —3) =0

O020(z+5)(x+1)=0
03022 +5x—24=0
04022+ 11z +24=0
05022 -8z +15=0
0602248z +16=0
07022 —-1224+36=0
O80z2—z—42=0
09022 +2=0
010022 —36 =0
011022 — 18 = 22 + 17
0120 222 — 202 + 50 = 0
0130 —322 + 152 — 18 =0
0140 (z — 2)(x + 2) = 3z
0150 (x —3)? = -z + 15
0160 x(x —4) =7(x —4)
0170 (z+1)(zx+4) -5z —-5=0
m1&y%ﬂx+1y:m

2. 000000000000 00000000O0O0O0OO0
010 3z% = 36

020422 = 81

03022 -7=0
040322 —27=0
555%332:5

060 (z+6)% =11
070 (z —9)? = 16
080 (x—3)2-18=0
090 (2x+5)2=9

0100 (6 — 3x)? = 81

3. 000000 ooomuooooooooooog
010224+ 7x+2=0

020222 —bx+1=0
030322 -52—-2=0
040422 4+8x—-5=0
05022422 —-4=0
06022 +6z+1=0
0702 4+z=1
0803z% +2 =28z
090622 =2 +4
0100 z(6z —1) =1
0110522 — 4 = 6x
2 X

x
o2 —+ —=1
) +10



